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1- [kkyhyiSdh vFkZ’kkL=kr mRiknu Eg.kts  

v ekrh [k.k.ks  c fe=kleksj xk.ks xk.ks  d jksMofjy esugksy e/;s ygku eqykyk iM.;kiklwu jks[k.ks  M 

vkoM Eg.kwu fp= jaxfo.ks 

Which of the following is considered  

production in Economics?  

a) Tilling of soil  

b) Singing a song before friends  

c) Preventing a child from falling into a  

manhole on the road  

d) Painting a picture for pleasure  

Ans (a) 
 

2. ;ksX; Ik;kkZ; fuoMk 

v ljkljh mRiknu egRre vlrs tsOgk flekar mRiknu gs ljkljh mRiknuk cjkcj vlrs- c o/khZ mRiRrh fu;e laca/k 

?kVdkaps izek.k cny.;kP;k ifj.kkek’kh vlrks- d eskB;k izek.kkofjy ferO;;rk g;k ?kVdkaP;k vfoHkkT;rseqGs ok<rkr- 

M fu;kZr {ks=keqGsp fuekZ.k gksm ’kdrkr- 

Identify the correct statement:  

a) The average product is at its maximum when  

marginal product is equal to average product  

b) The law of increasing returns to scale relates  

to the effect of changes in factor proportions  

c) Economies of scale arise only because of  

indivisibilities of factor proportions  

d) Internal economies of scale can accrue only to  

the exporting sector.  

 Ans. (a)  

   

3. [kkyhyiSdh Hkwfeps dks.krs oSf’k"V; ukgh\ 

V vFkZO;oLFksr frpk iqjoBk e;kZfnr vlrks- c rh vpy vkgs d frpk mi;ksx euq";kP;k iz;Rukoj voyacwu vlrks- M 

frps mRiknu vkiY;k iwoZtkauh dsys vkgs- 

Which of the following is not a  

characteristic of land?  

a) Its supply for the economy is limited  

b) It is immobile  

c) Its usefulness depends on human efforts  

d) It is produced by our forefathers  

 
  

Ans. (d)  



4. [kkyhyiSdh dks.krs okD;k lR; vkgs\ 

v HkkaMoykpk lap; gs loZLoh mRiUukoj voyacwu vlrs- ccpr gh jkT;kadmwu jkTlkapk ifj.kke vlw ‘’kdrks d 

ckg;cprh g;k vkdkjk’kh o varxZr cprh g;k LFkkuk’kh laca/khr vlrkr- M Jekpk iqjoBk odz gk oj tk.kjk vlrks- 

Which of the following statements is true?  

a) Accumulation of capital depends solely on  

income  

b) Savings can also be affected by the State  

c) External economies go with size and  

internal economies with location  

d) The supply curve of labor is an upward  

sloping curve   

Ans. (b) 

 

5- izR;{k O;; vlrkr----  

V ,dw.k LFkhj O;;kcjkscj c iw.kZi.ks ifjorZuf’ky O;; vlrkr d Lor%P;k lk/kukauk fnysys ‘kks/ku vlrs M 

fn?kZdkGkis{kk vYidkGkr tklr vlrks- 

 Implicit costs are: 

A) equal to total fixed costs. 

B) comprised entirely of variable costs. 

C) "payments" for self-employed resources. 

D) always greater in the short run than in the long run. 

2- ,dk is<hdfjrk dks.krk izR;k{k O;; vlsy\ vlk O;; 

v is<hP;k dkexkjkaph etwjh vkf.k osru 

Ck is<hP;k bekjrhps HkkMs  d is<hus mRiknu iqjoB;kdfjrk dsysys ’kks/ku M is<hP;k ekydkpsh etwjh 

Which would be an implicit cost for a firm? The cost: 

A) of worker wages and salaries for the firm. 

B) paid for leasing a building for the firm. 

C) paid for production supplies for the firm. 

D) of wages foregone by the owner of the firm. 

3. tj is<hph izkIrh loZ oSdYihd O;; dOgj djr vlsy rj] 

v lkekU; uQk ‘lwU; vlrks c vkfFkZd uQk gk ’kwU; vlrks- d ,dw.k izkIrh gh R;kP;k vizR;{k O;;kcjkscj vlrs M 

,dw.k izkIrh gh vizR;{k O;;kcjkscj vlrs 

If a firm's revenues just cover all its opportunity costs, then: 

A) normal profit is zero. 

B) economic profit is zero. 

C) total revenues equal its explicit costs. 

D) total revenues equal its implicit costs. 

4. tj ,[kknh is<h R;kps mRiknu ?kVCdkakP;k oSdYihd O;;kis{kk deh fderhr fodr vlsy rj dk; lR; vkgs\ 

v is<h ys[kk vkf.k vkfFkZd uQk feGfors c is<hyk ys[kk vkf.k vkfFkZsd gkuh lgu djkoh ykxrs d is<hyk ys[kk gkuh 

lgu djkoh ykxrs ijarq vkfFkZd uQk feGrks M is<h ys[kk uQk izkIr djrs ijarq rhyk vkfFkZd gkuh lgu djkoh ykxsy 

Suppose a firm sells its product at a price lower than the opportunity cost of the inputs 

used to produce it. Which is true? 

A) The firm will earn accounting and economic profits. 

B) The firm will face accounting and economic losses. 

C) The firm will face an accounting loss, but earn economic profits. 



D) The firm may earn accounting profits, but will face economic losses. 

 

6.vYidkG Eg.kts vlk dkG ftFks 

v loZ lk/kus fLFkj vlrkr c mRiknukpk Lrj fLFkj vkgs d mRiknukP;k la;a=kpk vkdkj vnyrk vlrks M dkgh lk/kus 

gh fLFkj vkf.k dkgh lk/kus gh cnyrh vlrkr 

 The short run is a time period in which: 

A) all resources are fixed. 

B) the level of output is fixed. 

C) the size of the production plant is variable. 

D) some resources are fixed and others are variable. 
 

1- oSdYihd O;; vkgs\ 

v izR;{k O;;  c ,dw.k O;;  d ys[kk O;; M fu?kwu xsysY;k la/khpk O;; 

Opprtunity cost is:  

a) Direct cost  b) Total cpost c) Accounting cost d) cost of forgone opportunity 

 

2- Tkl tls mRiknu ok<rs] ljkljh LFkhj O;; % 

V fLFkj jkgrks c deh gksm ykxrks d ok<w ykxrks M dkghgh ukgh 

As Output increases, average fixed cost: 

a) Remains constant b) Starts falling c) start rising d) None 

3- Lkjkljh fLFkj O;; izkIr dsyk tkm ‘kdrks 

a) AFC = TFC / TS  b) AFC = EC / TO  c) AFC = TC / PC d) AFC = TFC / TO 

Average Fixed Cost can be obtained through: 

a) AFC = TFC / TS  b) AFC = EC / TO  c) AFC = TC / PC d) AFC = TFC / TO 

4- Ljkljh fLFkj O;; odz gk  

v cfgxksZy vkf.k [kkyh mrj.kkjk c varxksZy vkf.k [kkyh mrj.kkjk  d cfgxksZy vkf.k oj tk.kkjk  M varxksZy 

vkf.k oj tk.kkjk 

AFC Curve is: 

a) Convex and downward sloping b) Concave and downward sloping c) convex and 

upward sloping d) Concave and upward sloping 

5- ;q vkdkjkpk ljkljh O;; odz gk vk/kkjhr vlrks  

v o`fn/k~ O;; fu;e c vk&gklh O;; fu;e d ekB;k izek.kkojhy fLFkj mRiknu O;; M vk&gklh mRiRrh 

fu;e 

U – shaped average fixed cost is based on  

A) Law of increasing cost b) Law of decreasing cost c) Law of constant returns to scale 

d) law of variable proportions 

       6-  tsOgk ljkljh O;; odzkpk vkdkj gk oj tk.kkjk vlrks ] rsOgk lhekur O;; 

Vdeh gksrks c LFKhj jkgrks d ok<r tkrks M ;kiSdh dkghgh 

When shape of average cost curve is upwards , marginal costs: 

a) Must be decreasing b) must be constant c) must be rising  d) Any of these 



6- vkfFkZd O;; ckgsj djrkr 

v ys[kk O;; $ vizR;{k O;; c ys[kk O;; $ izR;{k O;; d vizR;{k O;; $ oSdYihd O;; 

Economic costs excludes : 

a) Accounting cost + explicit cost b) Accounting cost + Implicit cost c) Explicit cost + 

opportunity cost 

7- [kkyhyiSdh dks.krk O;; odz gk d/khp ;q vkdkjkpk ulrks\ 

v ljkljh O;; odz c lhekar O;; odz d ,dw.k O;; odz M LFkhj O;; odz 

Which of the following cost curve is never U shaped? 

a) Average cost curve b) marginal cost curve c) Total cost curve d) Fixed cost curve 

8- ---- ,dw.k vknkuka}kjs r;kj dsysys mRiknu gs n’kZfors\ 

 v O;; Qyu c mRiknu Qyu d lemRiRrh O;; M rkaf=d I;;kZ;rspk flekar nj 

... shows the overall output generated at a given level of input 

a) Cost function b) Production function c) Iso cost d) marginal rate of substitution 

9- mRiknu ok<Y;kl nh?kZdkyhu ljkljh O;; [kkyh ;sr vlsy rj gs --- eqGs ?kMrs 

v vk&gklh mRiRrh fu;e c eksB;k izek.kkojhy cprh d cnyR;k izek.kkpk fu;e M eksB;k izek.kkojhy 

vcprh 

If LAC curve falls as output expands, this is due to … 

a) Law of diminishing returns b) Economies of scale  c) Law of variable proportion d) 

Diseconomies of scale 

10- lemRiRrh O;; gs cjkscj vlrkr--- 

v mRiknu jsksP;k c ,dw.k mi;ksxhrk jsksP;k d O;;jsksP;k M izkIrh jsksP;k 

Isoquants are equal to  

a) Product line b) Total Utility c) Cost lines d) Revenue Line 

11- Lkhekar mRiknu odz gk ljkljh mRiknu odzkP;k oj vlrks tsOgk ljkljh mRiknu odz gk  

v ok<rks  c ?kVrks d LFkhj jkgrks M dkghgh ukgh 

The marginal product curve is above the average product curve when the average product 

is … 

a) Increasing b) decreasing c) constant d) none 

12- lemRiRrh odz gk &&& leO;; odz js"ksyk larqyu fcanw vlrks 

vcfgxZr c varxZr d Nsnrks m yac nqHkktd 

An Isoquant is ----- to an isocost line at equilibrium point 

a) Convex b) Concave c) Tangent d) Perpedicular 

13- eksB;k izek.kkojhy o/khZ mRiRrh fu;e gk –O;Dr dsyk tkÅ ’kdrks 

v cfgxZr vkf.k varxZr cprh c cgfxZr vkf.k varxZr vcprh d cfgxZr cprh vkf.k varxZr vcprh M 

ofjyiSdh loZ  

Increasing returns to scale can be explained in terms of …. 

a) External and internal economies b) External and internal diseconomies c) External 

economies and internal diseconomies d) All of these  

14- Lkhekar mRiknu odz gk okd.;kP;k osGsyk --- 

v ok<rks c ?kVrks d egRre vlrks M udkjRed vlrks  



At the point of inflexion, the marginal product is … 

a) Increasing b) decreasing d) maximum d) negative 

15- Ikw.kZLi/kkZlqDr is<h vYidkyko/khr gkuh >kY;kojgh mRiknu lq: Bsosy tj] vlsy 

a) P  > AVC  b) P = AVC  c) P  < AVC d) P > AVC 

A Competitive firm in the short run incure losses – the firm continues production if;  

A) P > AVC b) p = AVC  c) P  < AVC  d) P > AVC  

16- [kkyhy cktkjfLFkrhr nh?kZdkyko/khr is<;k lkekU; uQk izkIr djrhy 

v iw.kZ LI/kkZ c ,dkf/kdkj d vYikf/kdkj M ;kiSdh dkghgh ukgh 

Under --- market condition firms make normal profits in the long run: 

a) Perfect competition b) Monopoly c) Oligopoly d) None 

17- ,d ,dkf/kdkjh egRre uQk feGfo.;kl l{ke gksrks tsOgk]  

V R;kps mRiknu gs egRre vlrs c rks tklr fdaer vkdkjrks d R;kpk ljkljh O;; U;wure vlrks M R;kpk 

lhekar O;; gk lhekar izkIrhcjkscj vlrks- 

A monopolist is able to maximize his profits when,  

a) His output is maximum b) He charges  a high price c) His marginal average cost is 

minimum d) his marginal cost is equal to marginal revenue 

18- ,dkf/kdkjkRed Li/ksZr ,dk is<hP;k mRiknukph frjdl yiofpdrk  vlsy% 

v vuar c tkLr yophd c tkLr vyophd M ’kwU; 

Under monopolistic competition the cross elasticity of demand for the product of a single 

firm would be:  

a) Infinite b) Highly Elastic c) Highly Inelastic d) Zero 

19-  TskOgk ljkljh izkIrh  10] vkf.k ljkljh O;;  8 vlsy rsogk is<h fuekZ.k djrs--- 

v lkekU; uQk c ‘’kqn/k~ uQk d ldy uQk M vlekU; uQk  

When AR = 10 and Ac = 8 the firm makes ---- 

Normal profit b) Net profit c) gross profit d) Supernormal profit 

20- Iwk.kZLi/kkZ;qDr cktkjisBrhy is<hP;k nh?kZdkyko/khrhy larqyukph vV dk;\  

v  LMC = LAC = P c SMC = SAC = LMC d P = MR M ofjy loZ 

What are the conditions for the long run equilibrium of the firm? 

a) LMC = LAC =P b) SMC = SAC = LMC c) P = MR d) All of These 

21- fodqaphr ekx.kh odzkph ifjdYiuk ekaMyh\ 

v vYQszM ek’kZy c , lh ihxw d Lohth M fgDl vkf.k vWysu 

Kinked demand curve hypothesis is given by  

a) Alfred Marshall b) A C Pigou c) Sweezy d) Hicks and Allen 

22- vlkekU; uQk izkIr gksrks tsOgk ] 

v ,dqw.k izakIrh gh ,dw.k O;;kcjkscj vlrs c ,dw.k izkIrh gh ,dw.k cnyR;k O;;kcjkscj vlrs d ljkljh 

izkIrh gh ljkljh O;kcjskcj vlrs M ljkljh izkIrh gh ljkljh O;;kcjkscj vlrs 

Supernormal profit occurs when,  



a) Total revenue is equal to total cost b) total revenue is equal to variable cost c) 

Average revenue is more than average cost d) Average revenue is equal to average 

cost  

23- Tkj iw.kZLi/kkZ;qDr cktkjiBssr  fdaer js"kk gh ljkljh O;; odzkP;k [kkyh vlsy rj] is<hyk feGsy--- 

v QDr lkekU; uQk feGsy  c rksVk gksÃy  d vlkekU; uQk feGsy  M uQk fu/kkZjhr djrk ;s.kkj ukgh 

If under perfect competition, the firm would: 

a) Make only normal profit b) Incur losses c) make abnormal profit d) Profit can not 

be determined 

24- egRre uQ;kdfjrk gh vV vkgs] 

aaaaa a) AR = AC b) MR = MC c) MR = AR d) MC = Ac 

For Maximum profit, the condition is : 

a) AR = AC b) MR = MC c) MR = AR d) MC = AC 

25- Lkarqyhr fdaer ;k}kjs fu/kkZjhr dsyh tkÅ ’kdrs  

v QDr ekx.kh c QDr iqjoBk d nksugh ekx.kh vk.kh iqjoBk M dkghgh ukgh 

Equilibrium price may be determined through: 

a) Only demand b) only supply c) Both supply and demand  d) None  

26- Tkj fdaer gh  larqyhr fdaerhis{kk [kkyh Bso.;kpk iz;Ru dsyk rj--- 

  v vfrfjDr iqjoBk fuekZ.k gksby c vfrfjDr ejkx.kh fuekZZ.k gksby d v vkf.k c M v ukgh o c gh ukgh 

If price forced to stay below equilibrium price : 

a) Excess supply exists b) Excess demand exists c) a or b d) neither a nor b 

27- iqjoB;krhy ok<hlkscr ekx.khrhy vifjorZu usrs--- 

v fdaer ok< vkf.k ifjek.kkr ?kV c fdaer o ifjek.k nksUgh e/;s ?kV d fdaer o ifjek.k nksUghe/;s ok< M 

fderhr ?kV vkf.k ifjek.kkr ok< 

An increase in supply with unchanged demand leads to— 

a) Rise in price and fall in quantity b) Fall in both price and quantity c0 Rise in both 

price and quantity d) Fall in price and rise in quantity  

28- nh?kZdkyko/khr --- 

v QDr ekx.kh cnyw ’kdrs c QDr iqjoBk cnyw‘’kdrks d ekx.kh o iqjoBk nksUgh cnyw ‘’kdrkr M ;kiSdh 

dkghgh ukgh 

In the long Run: 

a) Only demand can change b) only supply can change c) Both supply and demand can 

change d) None of these 

29- [kkyhyiSdh iw.kZLI/ksZph dks.krh vv ukgh\ 

v dszrk o fodszR;kaph vla[; la[;k c ,dftulh olrw d eqDr izos’k M ifjogu O;; ukgh 

Which of thes following is not an essential condition of pure competition 

a) Large number of buyers and selles b) Homogenous product c) Freedom of entry d) 

Absence of transport cost 



 


